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1. Check the controllability of the system?
2. Check the observability of the system?
3. Is the zero state response BIBO stable?
4. The zero input response is asymptotically stable? or not?
5. What is the order of system transfer function? 1 or 2 or 3?
6. Is it possible to find an u(t) such that the state can move from x(t)=[0 0 0] to
state x(t)={1 113 ?
7. Can we redesign the eigenvalues of system to -2, -2, -2 by state feedback?
8. Can we redesign the eigenvalues of system to -2, -1, -2 by state feedback?
9. Can we redesign the eigenvalues of system to 3, 3, 3 by state feedback?
10. Can we redesign the eigenvalues of system to 1, 2, 3 by state feedback?




